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_ Part-III 3-Tier
MICRO AND MACRO ECONOMICS
{Elective General)
PAPER—G-6 ‘
Full Marks : 100

: Time : 3 Hours
' The figures in the right-hand margin indicate full marks.

‘Candidates are required to give their answers in their
! own words as far as practicable.

Nlustrate the answers wherever necessary.

Group—A
: { Micro Economics )

[Marks : 45]

1. Answer any one question : ’ 1x15

(a) Explain law of ‘demand. What are the main

determinants of demand ? What are the exceptions of
law of demand ? 4+6+5
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(b) What is an isoquant and what is an isocost line?
Show with help of these lines how a firm will

maximise its output subject to a given cost.
5+10

(c) What are the squilibrium conditions in perfectly
competetive market ? How can short run equilibrium
be attained in perfectly competetive market? -

5+10

2. Answer any three questions : . 3x8
(a) Explain law of variable proportion.

(b) Define income elasticity of demand. What will be its
sign? How will you measure income elasticity of
demand at any point on a linear income-demand
curve ? 2+1+5

{c) What are the features of perfectly competetive
market ?

{d) How equilibrium price and guantity are determined
by the demand and supply curve?

{¢) What is an oligopoly market? Mention the main
features of oligopoly. 3+5

{fi Define price elasticity of demand. Discuss the main
factors affecting price elasticity of demand. 3+5
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3. Answer any two questions : 2x3
(a) What is cross elasticity of demand ?
(b) What is break even point ?

(cj Distinguish between change in quantity demanded
' and change in demand.

{d) Can a monopolist earn supernormal profit in the long

run ?

(e) Write the relation between AC and MC.

- Group—B
o ( Macro Economics )
; ' [Marks : 45]

4. Answer any one question : 1xX15

I'(a) Define national income. Discuss the major methods

1 of measuring national income of an economy.
3+12

'(b) Explain the causes of inflation? What are the

' controlling measures of inflation ? 8+7

-

'(¢) Show with the help of consumption and investment
functions how the equilibrium level of income is

' determined in a simple Keynesian model. Examine the

stability of this equilibrium. 1243
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5. Answer any three questions : Ix8

(a} What are the properties of Keynesian consumption
function ? '

(b} How we get investment multiplier ?

{¢) What is central bank ? Describe various functions of
the central bank of a country. 2+6

(d) Explain Fisher’s Quantity Theory of Money.

{e) Discuss various problems of measurement of national
income of a country.

{fi What is a business cycle ? Describe different phases
of a business cycle. : 3+5 -

6. Answer any ftwo questions : 2x3

(a) Explain the concept of Gross Dom;:stic Product (GDP).
(b) What is saving function ?

(c) What ate functions of money ?

(d) Define demand pull inflation and cost push inflation.
[ Internal Assessment — 10 Marks]
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